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Seat No.: ________                                                   Enrolment No.______________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.-  5

th
 SEMESTER–EXAMINATION  

Subject code: 2351905   Date:03/06/2014      

Subject Name: Estimating, Costing and Contracting 

Time: 02:30 to 5:00 P.M.     Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

  

Q.1 (a)  Define Estimating, Costing and Contracting. And state atleast four 

advantages of costing.  

07 

 (b)     What are the qualities required for good estimator? 07 

Q.2    

 (a) List methods of overhead allocation. Explain man-hour rate method 

of overhead allocation 

07 

 (b) State the type of depreciation and explain any two in detail. 07 

  OR  

 (b) Define following terms. 

(1) Selling Price    (2) Book Value    (3)Market Price 

(4)  Direct Material Cost  (5) Salvage Value 

(6) Direct Expense           (7) Scrap Value 

07 

Q.3    

 (a) Explain the cost Elements in Arc-welding and give the factor 

affecting of arc welding. 

07 

 (b) Catalogue price of a freeze is Rs.16000. Discount of 10% is given to 

distributor. Sales and distributor overhead is1/2 of factory cost. 

Administrative overhead is 1/3 of factory cost. Find the profit earned 

by company per piece. If direct material cost, direct labour cost and 

factory overheads are in 2:1:3. Consider factory overhead as Rs.3600 

07 

  OR  

Q.3 (a) State and explain various sheet metal operation. 07 

 (b) 300 m.s. pins of the size 50 mm diameter and 200 mm long are to be 

produced from a rod having 80 mm diameter. The cost of rod is Rs. 

100 per meter. Consider only shear and sprue losses. Find out 

material cost. 

07 

    

 Q.4    

 (a) Define pattern. List and explain types of pattern allowance. 07 

 (b) A cast iron surface is of 12.5 x 50 cm size. Estimate time for plain 

milling it. Cutting speed 12 m/min. Total cuts to be taken is 2. First 

rough cut is 3.125mm deep and 0.1 mm/stroke feed. Second finish 

cut 0.025 mm. deep & feed 0.05 cm/stroke. Return speed is 30 

m/min. 

07 

  OR  

Q. 4 (a) Explain different forging operations. 07 

 (b) Thickness of a cast iron block 10cm x 3 cm is to be reduced in 2 cuts 

from 1.8 cm to 1.3 cm. If cutting speed is 20 m/min and feed 0.2 

mm/stroke and cutting time is 3/5 of total time. Find shaping time. 

07 
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Q.5    

 (a) List modern tool and techniques of cost reduction. And explain any 

one.  

07 

 (b) Explain Break Even Point analytically 07 

  OR  

Q.5 (a) List the method of increasing profit. Explain any one in detail. 07 

 (b) List the type of contract and explain any one of them. 07 
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5|`Gv! V V[:8LD[8L\U4 SM:8L\U VG[ SMg8=FS\8LUGL jIFbIF VF5MP VG[ SM:8L\UGF VMKFDF\ VMKF 5F\R 

OFINF H6FJMP 

07 

 A ;FZF V[:8LD[8ZGL ,F1Fl6STF J6F"JMP 07 

    

5|`GvZ V VMJZ C[0 V[,MS[XG GL ZLTM H6FJMP VG[ D[G VJZ Z[8GL ZLT ;DHFJMP 07 

 A D]<I 3;FZFGF 5|SFZ H6FJMP VG[ T[ 5{SL UD[ T[ A[ ;DHFJMP 07 

  VYJF  

 A GLR[GL jIFbIF VF5MP s!f ;[,L\U 5|F.h sZf A]S J[<I]\ s#f DFS["8 5|F.h s$f 0FIZ[S8 

D8LZLI, SM:8 s5f ;[<J[H J[<I]\ s&f 0FIZ[S8 V[S;5[g; s*f :S|[5 J[<I]\  

07 

5|`Gv#    

 V VFS" J[<0L\UGF BR"GF 38SM ,BMP VG[ VFS" J[<0L\U BR"G[ V;ZSTF" 5ZLA/M H6FJMP 07 

 A O||LHGL S[8,MU lSD\T ~FP !&___qv K[P 0L:8=LaI]8ZG[ !_@ l0:SFpg8 V5FI K[P JCLJ8L 

VMJZ C[0h O[S8ZL SM:8GF !q# U6F K[P J[RF6 VG[ lJTZ6 VMJZC[0h O[S8ZL SM:8GF 

!qZ U6F K[P 5|lT G\U S\5GL YTM OFINM XMWMP 5|tI1F D8LZLI, BR"4 5|tI1F DH]ZL BR"4 

O[S8ZL VMJZC[0h  Zo!o#GF U]6MTZDF\ K[P O[S8ZL VMJZ C[0 ~FP #&__qv K[P  

07 

  VYJF  

5|`Gv#    

 V lJlJW XL8 D[8, VM5Z[XGG]\ J6"G SZMP  07 

 A 5_DLPDLP jIF; VG[ Z__ DLPDLP ,\AF.GL #__V[DPV[; 5LG OMÒ"U 5|lS|IF wJFZF 

AGFJJFGL K[P VF DF8[ (_DLPDLP jIF;GM AFZ :8MS JF5ZJFDF\ VFJ[ K[P HM AFZGL lSD\T 

~FP !__qDL8Z CMI TM VF 5LGM AGFJJFDF8[GF BR"GM V\NFH SF-M DF+ ;LIZ ,M; VG[ 

:5|]; ,M; U6TZLDF\ ,MP 

07 

    

5|`Gv$    

 V 5[8G"GL jIFbIF VF5MP VG[ 5[8G" V[,Fpg;GL IFNL VF5MP  07 

 A V[S SF:8 VFIG ;ZO[; !ZP525_ ;[PDLP ;F.hGL K[P T[G[ %,[8L\U SZJFGM ;DI XMWMP 

S8L\U:5L0 !Z DL8ZqDLGL8 VG[ ZL8G" :5L0 #_DL8ZqDLGL8 K[P 5C[,M ZO S8 #P!Z5 

DLPDL p\0M VG[ OL0 _P! DLPDLPq:8MS TYF ALHM OLGL; S8 _P_Z5DLPDLP p\0M VG[ OL0 

_P_5DLPDLPq:8=MS ,MP 

07 

  VYJF  

5|`Gv$    

 V lJlJW 5|SFZGL OMÒ\U 5|SIF ;DHFJMP 07 

 A !_ ;[PDLP 2 # ;[PDLP GF ,\ARMZ; SF:8 VFIGGF a,MSGL HF0FI !P( ;[PDLP YL 38F0LG[ 

!P# ;[PDLP A[ S8 SZJFGL K[P HM SF5 UlT Z_DLqDLGL8 VG[ OL0 _PZ DLPDLP q :8=MS VG[ 

SF5 ;DI S], ;DIGF #q5 CMI TM ;[5L\U DF8[GM ;DI XMWMP 

07 

    

5|`Gv5    

 V 5/TZ 38F0JF DF8[GF VFW]lGS ;FWGM VG[ TlS"AMGL IFNL AGFJMP VG[ SM. 56 V[S 

;DHFJMP 

07 

 A A|[S .JG 5M.g8 GSSL SZJFGL U|FOLS, ZLT ;DHFJMP 07 

  VYJF  

5|`Gv5    

 V GOM JWFZJF DF8[GL ZLTM HF6FJMP VG[ SM.56 V[S lJ:TFZYL ;DHFJMP 07 

 A SMg8=FS8GF 5|SFZ H6FJMP VG[ T[ 5{SL UD[ T[ V[S ;DHFJMP 07 
 

************ 

 


